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B CANZ(RELNANL/XALET A
SRl TAHE 2 JIBAIE 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O MBE2, MOILH, ns, 32 FAH
70,0003 *3H » 123 2,520
O &&X ASH]| 3,000,000& 13 3,000
O A2 TANY 2&H s0tel sl
300,000& 20«12 7,200
O A2 A Of2l 24
1,500,000& =23l 3,000
401 AIEHI L 2 CHYI 17,000 100,000 A 83,000
01 A& HI 17,000 100,000 283,000
O &8 ZANMUs 24 24
17,000,000& *13l 17,000
Ot st Bl EA N AY 45,000 45,000 0
401 A& HIZ 201 Y] 45,000 45,000 0
01 A& HI 45,000 45,000 0
O SAHECZ Bdstd ZHAY
9,000,000 x5 S & 45,000
SES WX adsd=X9 HHAY 1,831,000 1,700,000 131,000
S 831,000
i 1,000,000
401 Al HIZ 201 Y] 1,831,000 1,700,000 131,000
< 831,000
s 1,000,000
01 A& HI 1,822,000 1,692,000 130,000
O g% WX+ F=ZdlAd
1,822,000,000& 1,822,000
< 827,000
s 995,000
03 Al 2 THHI 9,000 8,000 1,000
O &% WXz A== A 9,000, 000& 9,000
< 4,000
[ia 5,000
S5eAE HEBEZ FHH 2 F=XUHE LAY 250,000 0 250,000
s 250,000
401 AIEHI L 20HYI 250,000 0 250,000
as 250,000
01 A& HI 246,000 0 246,000
ObZANE HZE2 FH £ F=XUE &M
246,000, 000& 246,000
s 246,000
03 Al S THHI 4,000 0 4,000
ObZANE HZE2 JH £ F=XUE &M
4,000,000& 4,000
s 4,000
S AIZ et 10,000 410,000 A 400,000
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SN WA
I #HSY A (HASD)OIE/IIE)

¢l =gl (chel & 9l)
x 5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 FN2ELRZ=TH| 3,600 3,600 0
O BA2E ZRFAH| 300,000& 128 3,600

WRes(H2IH) (MY -S4 H/agZ

ME - D& 3 6,521,540 1,140,340 5,381,200

HEHH XK= 6,521,540 1,140,340 5,381,200
LHEAHH X = 6,521,540 1,140,340 5,381,200
701 DIt HSEES 6,521,540 640,340 5,881,200
01 JIEtIHEES 6,521,540 640,340 5,881,200
OSgE JoradaX 2el d&s3(224l)
283,540,000& 283,540
OYY =s3HX ZESME(HEEM al=2)
5,238,000,000& 5,238,000
O¥e s2HR =LAl (2&2)
1,000,000, 000& 1,000,000




